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#include <stdio.h>

typedef enum {false, true} boolean;
extern boolean lock=false;
extern 1nt balance;

main() 4 / No-Operation
while(lock==true)’
lock=true;
balance=balance+10; /* YLAHF1E =/
lock=false;

}
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boolean lock=false;

/ No-Operation
while(lock==true),

lock=true;

YARS

lock=false;
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while(lock==true)’;

lock=true;

lock=false;

M2 P2

16/50




BATSE Sf&8 == A4t ZE 24
2 © A= oot 3
B T W4z IS FHE Aco| 2X
boolean lock=false; EH
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© lock=true; O lock=true;
SAl T SA Y
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boolean lockl=false;
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boolean lock2=false;

locki=true; No-Operation([tiJ]) lock2=true;

No-Operation(CH J1)

while(lock2==true)};
A
lock1=false;
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int lock=1; 25 Ha

No-Operation(CH ) No-Operation(CH J|)

while(lock==2)"; while(lock==1)};

TP

e
4
18

lock=2; lock=1;

ZEMA P ZEMA P2

2 5-20 o= MRt 8P 7| EHE S&6h= IE(TRlC| 88 TS S551K| t= 49)

Ch 05 ZENA 57|35}

20/50



lock=true; 2 3F771':H01| o

= dARRXE ZEE OIR*PE HFHO| A
oF o
(o=

X Xot= =M7F 2 45HK|

No-Operation(CHiJ])

(1) while(luck==true]1;
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lock1=true;
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No-Operation(Cli J1)

While(lock2=true && turn==2)I;

lock1=false;
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boolean lockl=false;

boolean lock2=false;
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int turn=1;

lock2=true;

No-Operation(Cli J)

turn=1;

While(lock1==true && turn==1)k

UATSH
lock2=false;
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lockl=true;
while(lock2==true)

locki=false; I
while(turn==2)F
lock1=true; }

A
turn=2;
lockl=false;
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}  /* end while */

boolean locki=false;
boolean lock2=false; 2] H#H4

int turn=1;

lock2=true;

while(lockl1==true)

t if(turn==2) { No-Operation(CHD|){ if(turn==1) { No-Operation(CiJ|)

lock2=false; 1
while(turn==1)L
/* end if */ lock2=true; } /* end if */
}  /* end while */
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Semaphore(n);

if RS»@ then RS=RS-1;

i : 1 else block(): /* until RS>@ */
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RS=RS+1;

V(); wake_up();
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P1 increase(10);
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monitor shared_balance {

- xl-l:ll-E Z!-*C;-ﬂ- EL‘l E-l private:
LH-hll— _‘?'_E int balance=10;

boolean busy=false;

condition mon;

public:

increase(int amount) {

if(busy=true) mon.wait();

busy=true;

=, increase(5);

/* shared data */

/* condition variable #*/

/* public interface */

/* waiting in queue */

balance=balance+amount;

mon.signal();
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